Efficiency vs dr

efficiency vs AR

Ratio

0.8
0.7
0.6
0.5
0.4

0.3

Ja) A EET]

1078 1072 107t

—=— SoftQCD_default

_| —*— SoftQCD_ckfPixelLessStep

[y
TTTT] T T

[ Efficiency vs dr (track,jet) |

§0.05
00.045
=
%0.04
9.035
>
£0.03
o
j5=E).025
)
0.02
0.015
0.0
0.005

+Q
1.2F-

Ratio

A

=
S
w

1_

1072 1
AR(TP, jet)

Efficiency vs pu

= 0.05
o O OO VOO SOOIt SOV SO
o T T T S S A A
R At S S e A
e R S L S IR LR S
= : : : : : : :

PO.0BFf et b
0,025 o dons o b
0,02 orbordons bbb

....................................

1
TP min AR

Pileup

0 2 4 6 8 10 12 14 16 18 20

-1




	Contents
	Page 1


